,				
Date: 17/6/2021				
Name: Councillor Ray Le	wis			
Address: "Dunmovin" NEILREX				
Vehicle: 19050				
		2.5 litres and ove		
Meeting: Monthly Council 17 Meeting: Hons Expo	1 6 /2021	126 kms@	0.78 \$	98-28
Meeting: House Expo	/ 6 /2021	126 kms@	0.78 \$	98-28
Meeting:	/ /2021	kms @	\$	
Meeting:	/ /2021	kms @	\$	
Meeting:	/ /2021	kms @	\$	
71		252 TOTAL	\$	196.56
Signature of Claimant:	ne			
I hereby certify that:				

(a) the computations of this account are correct.

(b) the charges are, so far as I am able to ascertain, fair and reasonable.

For and on behalf of General Manager

Date:	181061	2021				
Name:	Councillor P	eter Shir	nton			
Address:	"Oxley" COONABAR	ABRAN				
Vehicle:	MAZDA B	T50				
Capacity:		nder 2.5 li	tres [2.5 litre	es and over	
Meeting: Mon	nthly Council	17/0	6 /2021	32	kms @0-78	\$24-96
Meeting:		1	/2021		kms @	\$
Meeting:		1	/2021		kms @	\$
Meeting:		1	/2021		kms @	\$
Meeting:		1	/2021		kms @	\$
Signature of	Claimant:	Pite	Shini	32	TOTAL	\$ 24-96
I hereby cert	tify that:					
	itations of thi es are, so far				and reasonab	le.
			For and	on behalf	of General Mar	nager

17 . (
Date: 17 / 6 / 202	1						
Name: Councillor Denis	Todo	1					
Address: "Wheatfields" BARADINE							
Vehicle: Ford 290							
Capacity: Unde	r 2.5 lit	res	2.5 litr	es and ove	r		
Meeting: Monthly Council 17	16	/2021	115	kms @	0.78	\$	89.70
Meeting:	19	/2021	ris	kms @	0.78	\$	89.70
Meeting: Inland Dawl	1	/2021		kms @		\$	
Meeting:	1	/2021		kms @		\$	
Meeting:	1	/2021		kms @		\$	
	Mod		230	TOTAL		\$	179.40
Signature of Claimant:							
I hereby certify that:							
(a) the computations of this account are correct.(b) the charges are, so far as I am able to ascertain, fair and reasonable.							
)		

For and on behalf of General Manager

Date:	17/6/2021			
Name:	Councillor Anne-Louise Capel			
Address:	"Oakdale" COOLAH			
Vehicle:	PAJERO			
Capacity:	Under 2.5 litres	2.5 litres and ove	r	
Meeting: M	onthly Council 20 /05 /2021	205 kms @	0.78	\$ 159.90
Meeting: G	oolhi CCC 191 0 12021	250 kms @	0.78	\$ 195.00
Meeting: $\sqrt{}$	UNERDO CCC 21/0\$/2021	130 kms @	0.78	\$ 101.40
Meeting: ^	1ENDOORAN (((26/04/2021	204 kms @	0.78	\$ 159.12
Meeting:	BINNAWAY 04/05 /2021	130 kms @	0.78	\$ 101.40
			6716.8Z	\$ 965.121
Signature o	f Claimant: Onne Lamae Cap	rel		

I hereby certify that:

(a) the computations of this account are correct.

(b) the charges are, so far as I am able to ascertain, fair and reasonable.

For and on behalf of General Manager

Date: 17 /6 /2	2021				
Name: Councillor Kodi	Brady_/	Anne-	Course Cape	(
Address: River Road COONABARAB	RAN				
Vehicle: PATERO .					
Capacity: U	nder 2.5 li	tres	2.5 litres and over		
Meeting: Monthly Council					
Meeting: Robertson	05 10	5/2021	130 kms @ 0.6	8 \$	88.40
Meeting:	/		kms @	\$	
Meeting:	/	/2021	kms @	\$	
Meeting:	/	/2021	kms @	\$	
			335 TOTAL	\$?	GE. 846
Signature of Claimant: Am	ne-Leeuu	iae Cape			
I hereby certify that:					
(a) the computations of th (b) the charges are, so far				ble.	
		For and a	on behalf of General Mo	anager	